3000 3400 3410 3415 110 101
3000 030310,027|  801758,655| 128551372
310, 138, L3120 o5.175,721 4,800 1,931,926]
3400 328804484 207339254 31485230 goo oo
3410 328804484 207339254 31485230 goo oo
3415 3,251,041 3,036,443 214,508
100 3,189,631 2,086,801 202,830
110 1,873,541 1,735,756 137,785
101 1,873,541 1,735,756 137,785
1,354,335 1,246,607 107,728| 01
< >
(= 80,796)
7 1,690,500 * 1 * 10 = 16,905
8 1,134,700 * 3 * 10 = 34,041
9 1,010,400 * 1 * 10 = 10,194
10 982,800 * 2 * 10 = 19,656
(= 26,932)
80,796,000 * 2/12 = 13,466
80,796,000 * 2/12 = 13,466




348,687 320,172 28,515| 02
< >
(= 11,167)
6,475 * 1 *29  * 10 1,878
5,802 * 3 *29  *10 5,048
9 5,204 * 1 *29  * 10 1,510
10 4,708 * 2 *29  * 10 2,731
(= 17,348)
(= 3,710)
- 30,000 * 7 * 0.78 * 10 1,638
- 20,000 * 7 * 1.48 * 10 2,072
(= 1,390)
- 46,500 * 7 * 0.2 * 3 196
- 355,200 * 7 * 0.16 *3 1,194
(= 5,300)
20725 110,000 * 1 * 10 1,100
~15720 80,000 * 4 * 10 3,200
3000 3400 3410 3415 110 101




3000 3400 3410 3415 110 101
5710 50,000 * 2 * 10 = 1,000
80,796,000 * 6% = 4,848
- 30,000 * 7 *10 = 2,100
37,573 36,031 1,542| 04
(= 35,262)
28,630 * 2 * 300 = 17,178
17,178,000 * 4/12 = 5,726
28,630 * 2 * 15 = 859
42,950 * 2 * 12 = 1,031
28,630 * 2 * 65 = 3,722
17,178,000 * 1.5/12 = 2,148
17,178,000 * 10% = 1,718
120,000 * 2 * 12 = 2,880
35,262,000 - 33,815,000 = 1,447
(=2,311)

35,262,000 * 4.5% = 1,587




35,262,000 * 1.45% = 512
35,262,000 * 0.6% = 212
2,311,000 - 2,216,000 = 95
120 1,316,000 1,251,045 65,045
202 68,809 63,299 5,600
68,899 63,299 5,600( 01
< >
80,000 * 7 * 10 = 5,600
203 179,960 167,360 12,600
172,980 160,380 12,600| 04
< >
(= 7,500)
7 140,000 * 1 * 10 = 1,400
8 , 9 105,000 * 4 *10 = 4,200
10 95,000 * 2 * 10 = 1,900
(= 5,100)
80,000 * 2 * 10 = 1,600
3000 3400 3410 3415 110 101




3000 3400 3410 3415 120 203
50,000 * 7 * 10 = 3,500
204 660,918 616,812 44,106
< >
120,000 * 7 * 10 = 8.400
7 130,000 * 1 * 10 = 1,300
8 120,000 * 6 * 10 = 7.200
- 5.323
80,796,000 * 2.5/12 = 16,833
80,796,000 * 18/288 = 5.050
301 37915 35176 2739
37,915 35,176 2739| 08
35,810 * 20 * 12 = 8,595
8,595,000 - 5,856,000 = 2.739
200 61,410 49,642 11,768
220 61,410 49,642 11,768
405 61,410 49,642 11,768




61,410

49,642

11,768

01

11,768,000 * 1

11,768




